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4. 03m390 yzgs dgbsdmm IR — R gabdzos obgmo, Gmd gmggmwo X, Y € R Gogbggdobogols
begeempaegs: f(X+Yf (X)) = f(f(x))+xf(y).

5. godgsm, ABC 60l dsbgomgnmbs Lsdgmmbgwo, bawme @ séob §ogfomo, Gmdwol L 3gbaeo
9qds69mdls BC 33900bg ©s gbgds AB s AC 23960985 89Lsdsdobo B’ Qo C’ T96HG0wgddo.
30350 ABC s337300bg0%y 893mbsbeymo §ogiomol O 3gb@mo 8gdsmgmds @ Fmgfodol w9506l
B'C’ 63obg. ©odG30agm, 6md ABC  Lsdznmbgobg 893mbsbamo foghoto ©s @ Foghomo
033900905 ™6 HadGowdo.
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a?-2a+5 = b?-2b+5

0b9gm0 5M5MYMR0MO bsd3z0wo MoEbgzgdos, GMd a+ b + ¢ = 1. (3sbvbo osbEdMY™)
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6. 03m39m * s 6990babyegdol 8obodaero 860836gwrmds, bsesg a, b @ ¢



